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QUESTION 1

Click the Exhibit button.
switch# show npv status
npiv is enabled

External Interfaces:

Interface: extl7, FCID: 0x000000, State: Failed(neighbor on the upstream port is not fabric)
Number of External Interfaces: 3

An administrator is trying to configure a multiple-hop Cisco MDS switch and is receiving the error shown in the exhibit. In
this scenario, which action will solve this problem?

A. Configure the physical link of interface extl7 as an F_Port.

B. Configure the external interface to a different virtual SAN (VSAN) on both ends.
C. Connect the external link to a Cisco MDS switch.

D. Turn N_Port ID virtualization (NPIV) off.

Correct Answer: C

Reference: https://www.cisco.com/en/US/products/ps5989/
prod_troubleshooting_guide_chapter09186a00808c82f1.html

QUESTION 2

Your customer asks you how to connect a host for SAN access to the newly installed AFF A400 system. In this
scenario, which two statements are correct? (choose two)

A. Direct Connection to the nodes from the hosts with ISCSI is supported

B. Direct Connection to the nodes from the hosts with ISCSI is not supported

C. Direct Connection to the nodes from the hosts with FC is not supported

D. Direct Connection to the nodes from the hosts with FC is supported

Correct Answer: AC

ISCSI-Direct-attachment: In a direct-attached configuration, one or more hosts are directly connected to the controllers.
You cannot directly attach FC or FC-NMVE SAN hosts to single nodes without using an FC switch.

You can find more information on this link:

https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
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sanconf%2FGUID-193CC377-5C6F-4D3C-B42E-CE71AB6AAT7F.html

QUESTION 3

Exhibit.

You are moving volumes between aggregate aft_ 01_aggrl and the aggregate Aggr_Data shown in the exhibit.
How much space will be moved?
A 11.17TB

B. 935.75 GB
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C. 296 KB
D.1.91TB

Correct Answer: C

QUESTION 4

Question Exhibit |

Volume: ESX2_NVMe_volume_944

Back to all volumes Edit Delete More actions Refresh
Overwiev Snapshots Copies Data Protection  Storage efficiency  Performance
153.93Gb of 166.25 G
Before [ ] ] ¢ i
available space
Last Details
After [ ] | 156.71Gb of 166.25 G

available space

LastRun  Aug/24/2018 23:56:57
Total Savings .77 GB (22%)

Details 1.14 GB {9%) - Deduplication Savins
1.63 GB {13%) - Compression Savings
Deduplication Enabled {inline} Start Time  Aug/24/2018 23:56:57
Deduplication Mode none EndTime  Aug/24/2018 23:56:57
Status idle
Type regulsr
Compression Enabled (inline)

Which two storage efficiencies have been enabled on the NVMe namespace that is shown in the exhibit? (Choose two.)

A. deduplication

B. compaction

C. compression

D. thin provisioning

Correct Answer: B

QUESTION 5

Exhibit.
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The VMware ESX host discovers only two of four paths to a LUN on a new ONTAP cluster.
Referring to the exhibit, which statement Is correct?

A. The fabric zoning configuration does not allow access to the target LIFs.

B. The igroup does not contain the. WWPN of one initiator.

C. The fabric name server is disabled.

D. The initiator HBA is not connected to the fabric.

Correct Answer: D
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